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𝐵𝑈𝑛𝑖𝑡 3,𝑡𝑜𝑡

𝐵𝑈𝑛𝑖𝑡 3(𝑇𝑘)

𝑇𝑏ℎ

𝑇𝑙

𝑇𝑘

𝑇𝑘

𝑇2.5

𝑛𝑘

𝑘

𝑛2.5 



𝑅𝑈𝑛𝑖𝑡 3,𝑡𝑜𝑡

𝑅𝑈𝑛𝑖𝑡 3(𝑇𝑘)

𝑆𝑈𝑛𝑖𝑡 3,𝑡𝑜𝑡

𝐵𝑈𝑛𝑖𝑡 3,𝑡𝑜𝑡 = ∑ 𝐵(𝑇𝑘) ⋅ 𝑛𝑘

𝑇𝑏ℎ

𝑘= 𝑇𝑙

𝑅𝑈𝑛𝑖𝑡 3,𝑡𝑜𝑡 = ∑ 𝑅(𝑇𝑘) ⋅ 𝑛𝑘

𝑇𝑏ℎ

𝑘=𝑇𝑙



𝑆𝑈𝑛𝑖𝑡 3,𝑡𝑜𝑡 = 𝐵𝑈𝑛𝑖𝑡 3,𝑡𝑜𝑡  𝑅𝑈𝑛𝑖𝑡 3,𝑡𝑜𝑡

 

𝐵𝑈𝑛𝑖𝑡 4,𝑡𝑜𝑡

𝐵𝑈𝑛𝑖𝑡 4(HDD𝑖)

HDD𝑖

𝑅𝑈𝑛𝑖𝑡 4,𝑡𝑜𝑡



𝑅𝑈𝑛𝑖𝑡 4(HDD𝑖)

𝑆𝑈𝑛𝑖𝑡 4,𝑡𝑜𝑡

𝐵𝑈𝑛𝑖𝑡 4,𝑡𝑜𝑡 = ∑ {
𝐵𝑈𝑛𝑖𝑡 4(HDD𝑖); 𝑓𝑜𝑟 𝐻𝐷𝐷𝑖 > 0

0;  𝑓𝑜𝑟 𝐻𝐷𝐷𝑖 = 0
}

52

𝑖=1

𝑅𝑈𝑛𝑖𝑡 4,𝑡𝑜𝑡 = ∑ {
𝑅𝑈𝑛𝑖𝑡 4(HDD𝑖); 𝑓𝑜𝑟 𝐻𝐷𝐷𝑖 > 0

0;  𝑓𝑜𝑟 𝐻𝐷𝐷𝑖 = 0
}

52

𝑖=1

𝑆𝑈𝑛𝑖𝑡 4,𝑡𝑜𝑡 = 𝐵𝑈𝑛𝑖𝑡 4,𝑡𝑜𝑡 𝑅𝑈𝑛𝑖𝑡 4,𝑡𝑜𝑡

 





𝑆𝑐𝑜𝑜𝑙,𝑡𝑜𝑡

𝑆𝑐𝑜𝑜𝑙(𝑇𝑘)

𝑇𝑏𝑐

𝑇ℎ

𝑇𝑘

𝑛𝑘

𝐻𝑐𝑜𝑜𝑙,𝑡𝑜𝑡

𝐻𝑐𝑜𝑜𝑙(𝑇𝑘)



𝑆𝑐𝑜𝑜𝑙,𝑡𝑜𝑡 = ∑ 𝑆𝑐𝑜𝑜𝑙(𝑇𝑘) ⋅ 𝑛𝑘

𝑇ℎ

𝑘= 𝑇𝑏𝑐

𝐻𝑐𝑜𝑜𝑙,𝑡𝑜𝑡 = ∑ 𝐻𝑐𝑜𝑜𝑙(𝑇𝑘) ⋅ 𝑛𝑘

𝑇ℎ

𝑘= 𝑇𝑏𝑐



 

 

 

 



𝐵𝑈𝑛𝑖𝑡 3(𝑇𝑜) = −2.065 ∙ 𝑇𝑜 + 48.04  −18 ≤ 𝑇𝑜 ≤ 16.0

𝑅𝑈𝑛𝑖𝑡 3(𝑇𝑜) = 0.02082 ∙ 𝑇𝑜
2 − 1.497 ∙ 𝑇𝑜

+ 31.67

−18 ≤ 𝑇𝑜 ≤ 16.0

𝐻𝑈𝑛𝑖𝑡 3(𝑇𝑜) = −0.0001926 ∙ 𝑇𝑜
2 − 1.071

∙ 𝑇𝑜 + 17.40

−18 ≤ 𝑇𝑜 ≤ 16.0

 𝐁𝐭𝐨𝐭  𝐑𝐭𝐨𝐭  𝐒𝐭𝐨𝐭  𝐇𝐭𝐨𝐭

 



𝐵𝑈𝑛𝑖𝑡 4(𝐻𝐷𝐷) = 3.235 ∙ 𝐻𝐷𝐷 + 216.3

  

HDD >  0

𝑅𝑈𝑛𝑖𝑡 4(𝐻𝐷𝐷) = 1.827 ∙ 𝐻𝐷𝐷 + 215.9  HDD > 0

𝐻𝑈𝑛𝑖𝑡 4(𝐻𝐷𝐷) = 2.007 ∙ 𝐻𝐷𝐷 HDD > 0

 𝑩𝒕𝒐𝒕  𝑹𝒕𝒐𝒕  𝑺𝒕𝒐𝒕 𝑯𝒕𝒐𝒕
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𝑇𝑘

𝑇𝑘 𝐵𝑈𝑛𝑖𝑡 3(𝑇𝑘) 𝑅𝑈𝑛𝑖𝑡 3(𝑇𝑘) 𝐻𝑈𝑛𝑖𝑡 3(𝑇𝑘) 𝑆𝑈𝑛𝑖𝑡 3(𝑇𝑘) 𝑛𝑘 𝐵𝑈𝑛𝑖𝑡3,𝑡𝑜𝑡 𝑅𝑈𝑛𝑖𝑡3,𝑡𝑜𝑡 𝐻𝑈𝑛𝑖𝑡 3,𝑡𝑜𝑡 𝑆𝑈𝑛𝑖𝑡 3,𝑡𝑜𝑡



  

 



𝑖 𝐻𝐷𝐷𝑖 𝑅𝑈𝑛𝑖𝑡 4(𝐻𝐷𝐷𝑖) 𝐵𝑈𝑛𝑖𝑡 4(𝐻𝐷𝐷𝑖) 𝐵𝑈𝑛𝑖𝑡 4(𝐻𝐷𝐷𝑖) −  𝑅𝑈𝑛𝑖𝑡 4(𝐻𝐷𝐷𝑖)





 

 

 𝑌𝑖̂

 𝑌𝑖

 𝑛



 𝑝

𝑆𝐸𝛾 = √
 ∑(𝑌𝑖̂ − 𝑌𝑖)

2

𝑛 − 𝑝 − 1

𝑛𝑡𝑜𝑡

𝑈𝑛𝑐𝑒𝑟𝑡𝑎𝑖𝑛𝑡𝑦 = ± 𝑡 × 𝑆𝐸𝛾



𝑆𝐸𝑡𝑜𝑡𝑎𝑙,   𝑏𝑎𝑠𝑒 =  √𝑛𝑡𝑜𝑡 ∙ 𝑆𝐸𝑏𝑎𝑠𝑒
2

𝑆𝐸𝑠𝑎𝑣𝑖𝑛𝑔𝑠 =  √𝑆𝐸𝑏𝑎𝑠𝑒
2 + 𝑆𝐸𝑟𝑒𝑡𝑟𝑜𝑓𝑖𝑡

2
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